dec 2017 distomats 1,6 failures (T12)  * DIST1 + DIST6 GoodDist:3
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dec 2017 distomats 2,3 failures (T4)  * DISTZ + DISTS
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dec 2017 distomats 4,5 failures (T8)  * DIST4 + DISTS
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dec 2017 distomats 1,6 failures (T12)
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* DISTT + DIST6 GoodDist:3

faild: 513
faild: 343
faild: 264
failb: 1381
totBad 268t
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dec 2017 distomats 2,3 failures (T4)  * DISTZ + DISTS

hourOfDay

hourOfDay

:‘ * | | ]
20% —:
T A ]
L 3 ¥ _
W5j ]
10— -
5:—% {
C ]
oL 1K ww X | ]

0
az

dec 2017 distomats 4,5 failures (T8)  * DIST4 + DISTS
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